AIXEIERAKE KEABRAHR(TM7EIAS)

IHHE PN KU R BE pHIE
B AR (°C) (°C) ()
1l * i 6.7 6.2 0.2 7.3
2| H &= 10.2 6.7 0.1 7.3
3 A B8 8.9 7.0 0.2 7.3
40 K B8] 5.4 1.2 0.1 7.1
5l 7K &= 5.5 6.3 0.2 1.2
6| K 5 5.4 6.1 0.3 7.2
7| & 5 4.2 6.8 0.2 7.0
8 = = 3.2 6.5 0.2 7.1
9] H i 7.1 59 0.1 7.1
10 H i 3.6 6.5 0.2 7.1
11, X 5] 7.1 6.7 0.1 7.2
12] K 5 9.7 7.3 0.2 7.2
13 K 5 9.5 7.7 0.2 7.2
14 & = 4.0 8.3 0.2 7.2
15| * = 6.4 8.5 0.2 7.2
16| H 5] 6.0 7.5 0.1 7.2
171 H &= 5.2 7.3 0.2 7.2
18| X 5 1.2 7.5 0.3 1.2
19] 7K i 9.9 7.4 0.1 7.1
20| K 5 5.1 7.3 0.2 7.1
21 & &) 2.7 6.9 0.2 1.2
22, k= &) 11.0 7.5 0.1FK 7.2
23| H &) 11.5 7.9 0.2 7.2
24| H = 8.8 8.0 0.1 7.2
25 X 5 10.1 8.5 0.2 7.2
26| 7K 5 10.9 9.1 0.2 7.2
27 K 5 10.8 9.7 0.2 7.2
28| ® 5] 17.4 10.0 0.2 1.2
29| + = 9.0 9.8 0.1K% 7.2
300 H 5 8.2 8.9 0.1 7.3
31 A = 4.9 8.4 0.2 7.1
=AE 17.4 10.0 0.3 7.3
B/MB 1.2 59 0.1K% 7.0
M8 7.4 7.6 0.2 7.2
%) B AT ERKBRNEEEH EEERFEME 20T 6.5~8.0




AIXEIERAKE KEABRAHR(TM7E2R5)

I5H PN KU KGR B pH1E
B BB (°C) (°C) ()
1l * i 1.3 5.7 0.3 1.2
2| H B8 4.8 5.7 0.2 7.3
3 A &= 5.4 6.1 0.2 1.2
40 K E 1.0 6.5 0.3 7.3
5 7K E -2.2 6.0 0.2 1.2
6| K ES -3.6 5.9 0.3 7.3
7| & i -2.3 54 0.3 7.3
8 * ES -1.5 5.2 0.2 7.3
9] H i -0.7 4.9 0.2 7.3
10, A ES -1.5 4.9 0.2 7.3
11} X i 2.5 5.1 0.3 7.3
12| 7k i -0.6 4.9 0.2 7.3
13] K 55l 3.7 4.7 0.3 7.3
14 & i -1.2 4.5 0.3 7.2
15| =+ i 1.8 4.6 0.3 7.2
16| H i 6.9 5.5 0.2 7.2
170 A = 1.0 5.8 0.2 7.1
18] X = 1.2 59 0.3 7.2
19] 7k i -2.3 5.6 0.2 7.2
20 K i -1.3 54 0.2 7.2
21| = i -2.4 5.3 0.3 7.2
22, * ES -1.1 5.3 0.2 7.3
23| H i 0.5 5.3 0.2 7.2
24| A i 2.7 5.2 0.2 7.2
25| X 5 -1.8 5.3 0.2 7.3
26| 7K 5 0.7 5.3 0.2 7.3
27 K = 1.4 5.4 0.2 7.2
28| = = 4.9 5.8 0.1 7.2
RANE 6.9 6.5 0.3 7.3
=/ME -3.6 4.5 0.1 7.1
Fi(E 0.6 5.4 0.2 7.2
2E) AT ERKBRKEELN TR ERRLE®E 20T 6.5~8.0




AIXEIERAKE KEABRAHR(TM7E1IRAS)

I5H PN KU KGR BE pH1E
B BB (°C) (°C) ()
1) 7K 5 1.2 6.6 0.2 7.3
2] K 5 6.9 6.5 0.2 7.3
3| & i 3.7 6.3 0.2 1.2
4] + 5 1.4 6.1 0.2 1.2
5/ H 5 3.3 6.3 0.2 1.2
6| A 5] 2.4 6.2 0.3 7.3
7K & 2.4 6.2 0.3 7.3
8 K i 2.3 6.5 0.3 7.3
9] K = -0.9 5.6 0.2 7.3
10| & ES -2.3 54 0.3 7.1
11 =+ i -0.1 4.8 0.4 7.2
12| H & 0.8 54 0.3 7.2
13 A 5 2.2 4.9 0.4 7.2
14, X i -0.9 5.3 0.3 7.2
15| 7k & 2.5 5.7 0.3 7.1
16| K 5 -2.6 5.6 0.3 7.2
17, = 5 0.0 59 0.3 7.2
18] = 5 1.6 6.0 0.2 7.1
19 H = 3.0 5.6 0.3 7.2
20| H 5 5.5 5.7 0.4 7.2
21 X 5 0.1 5.7 0.2 7.2
22| K 5 0.5 5.7 0.2 7.3
23] K i 0.3 5.6 0.2 7.2
24| & = 1.3 59 0.2 7.2
25 & i 5.3 6.4 0.1 7.2
26/ H i 4.4 6.4 0.2 7.3
27/ A = 3.1 6.0 0.2 7.2
28| X = 2.9 6.0 0.1 7.3
29| K i -0.1 6.1 0.2 7.3
300 K i 1.2 6.0 0.2 7.3
31 = i 0.5 5.8 0.1 7.3
RANE 6.9 6.6 0.4 7.3
=/ME -2.6 4.8 0.1 7.1
Fi(E 1.7 5.9 0.2 7.2
2E) AT ERKBRKEELN TR ERRLE®E 20T 6.5~8.0




AIREIERAKE KEHABRAR(SFN6FE12HA7)

I5H PN KU KGR BE pH1E
B BB (°C) (°C) ()
1] H 5 6.4 10.7 0.2 1.2
2| A 5 6.6 10.7 0.3 1.2
31 K 5 6.1 10.9 0.3 1.2
4] K i 8.0 11.1 0.3 1.2
5/ K 5 4.1 11.0 0.3 7.2
6 & 5 4.7 10.6 0.3 7.2
7 T = 4.6 10.5 0.2 7.2
8 H & 4.0 9.2 0.3 7.2
9, A 5 -0.8 8.9 0.2 7.2
10 X 5 3.2 8.2 0.3 7.2
11 7k 5 3.0 8.6 0.4 7.2
12] K 5 4.2 8.8 0.5 7.3
13| & = 1.7 8.5 0.3 7.2
14] =+ 5 5.0 8.5 0.4 7.2
15| H 5 2.8 8.3 0.3 7.2
16| A 5 3.3 8.2 0.4 7.2
17) & 5 2.4 8.0 0.4 7.2
18] 7k 5 3.0 8.3 0.4 7.2
19] K 5 -0.1 8.4 0.5 7.2
200 & 5 -1.9 8.2 0.3 7.2
21 & = 2.8 8.4 0.2 7.2
22| H i 1.9 8.0 0.1 7.2
23| A i -1.9 7.0 0.2 7.3
24| X i -0.8 6.6 0.3 7.3
25| 7K i 0.7 6.7 0.3 7.2
26| K = 3.4 6.2 0.2 7.3
27| = 5] 2.8 6.3 0.3 7.3
28| £ i 2.7 6.7 0.3 7.2
29, H i 1.7 6.5 0.2 7.2
30| H i 0.5 6.3 0.3 7.2
31 X F 2.9 6.6 0.2 7.2
RANE 8.0 11.1 0.5 7.3
=/ME -1.9 6.2 0.1 7.2
Fi(E 2.8 8.4 0.3 7.2
2E) AT ERKBRKEELN TR ERRLE®E 20T 6.5~8.0




AR TEAKE KEHABRAHR(FTH6E11RASH)

HE PN KU 7K BE pHIE
B B (°C) (°C) ()
1l = = 18.1 15.3 0.2 7.1
2| L 5] 17.4 15.8 0.2 7.1
3| H 5 18.4 16.2 0.2 7.3
4 H 5 16.5 15.6 0.2 7.3
5 X 5 15.6 15.0 0.3 7.2
6] 7K 5 14.2 15.2 0.3 7.3
71 K 5 11.4 14.9 0.2 7.3
8 = 5 6.8 14.1 0.3 1.2
9| £ 5 12.4 13.0 0.2 7.3
10| H 5 12.4 12.8 0.2 7.1
11} H i 14.8 12.9 0.3 7.1
VAR 5 16.0 13.8 0.3 7.1
13] K 5 16.1 14.0 0.3 7.1
14] K = 11.7 13.8 0.2 7.1
15 & = 13.8 13.7 0.2 7.1
16| * 2 15.3 14.1 0.2 1.2
171 H &) 16.7 14.5 0.2 7.1
18 H 5 14.6 14.4 0.2 7.2
19 X 5 6.6 13.6 0.3 1.2
200 7K = 8.7 12.9 0.3 7.3
21 K &) 7.8 12.5 0.3 1.2
22| & &) 9.0 11.7 0.3 7.3
23] & &) 11.4 11.5 0.3 7.3
24| H &) 9.5 11.0 0.3 7.3
25| A 5 6.9 10.5 0.4 7.3
26| X = 9.0 9.9 0.2 1.2
27, 7K 5 10.2 10.0 0.2 7.3
28| K 5 6.5 11.6 0.2 7.2
29| = 5 5.8 11.5 0.3 1.2
300 + 5] 4.9 11.0 0.3 1.2
=AE 18.4 16.2 0.4 7.3
B/MB 4.9 9.9 0.2 7.1
M8 12.0 13.2 0.3 1.2
2E) B AT ERKBRNEEEH EEERFEME 20T 6.5~8.0




AR TEAKE KEFHBRAHR(FTH6EI10A%,)

HE PN KU 7K BE pHIE
B B (°C) (°C) ()
1 X i 22.9 21.8 0.1K 7.3
2| K i 21.5 21.4 0.1 7.3
3 K 5] 23.8 21.1 0.1 7.3
4 & 5] 23.0 20.6 0.1K 7.2
5/ & = 20.7 19.5 0.1 7.3
6| H = 23.1 18.9 0.1FK# 1.2
7 H = 22.3 19.5 0.1 7.1
8| X = 19.7 19.5 0.2 7.1
9] 7k = 16.1 18.5 0.2 7.1
10 K 5 14.8 17.7 0.1 7.2
11, = 5 17.3 17.0 0.2 7.3
12| = 5 20.9 17.6 0.1 1.2
13| H 5 20.8 17.5 0.1 1.2
14 H 5 20.5 17.8 0.2 7.3
15] X = 17.7 17.9 0.2 1.2
16] 7K = 21.4 17.8 0.2 7.3
17, K 5 19.8 18.1 0.2 7.2
18, = &) 21.2 18.3 0.1 1.2
19] *= = 22.7 18.7 0.1 7.3
200 H &) 17.5 17.9 0.1 7.3
21 A 5 14.1 17.1 0.2 1.2
22| X &) 15.2 17.0 0.3 1.2
23 7K 5] 19.2 16.9 0.1 1.2
24| K &= 18.0 17.3 0.2 7.3
25| & &) 16.6 17.5 0.2 7.4
26| + = 19.6 17.5 0.2 1.2
27| H = 17.8 17.5 0.2 1.2
28| A 5] 16.7 17.3 0.2 1.2
29 X B8] 15.8 17.1 0.3 1.2
300 7K i 15.6 16.2 0.3 7.0
31 K i 13.9 16.1 0.3 7.0
=AE 23.8 21.8 0.3 7.4
B/MB 13.9 16.1 0.1K% 7.0
M8 19.0 18.2 0.2 7.2
2E) B AT ERKBRNEEEH EEERFEME 20T 6.5~8.0




AR TXMAKE KEHBRAR(FTM6FEIAS)

HE PN KU 7K BE pHIE
B B (°C) (°C) ()
1] H = 24.4 20.3 0.1 7.3
2| B 5 25.8 20.6 0.1 7.3
3] K 5 24.1 21.0 0.1 7.3
41 7K 5 21.6 20.4 0.1 7.1
5| K 5 25.5 21.0 0.2 7.2
6 & 5 25.4 21.4 0.2 1.2
7 * 5 28.4 22.1 0.1 1.2
8 H 5 29.7 22.5 0.2 1.2
9, A 5 29.1 22.8 0.1 1.2
10| X = 26.2 23.1 0.2 1.2
11 7K 5 28.5 23.4 0.1FK % 1.2
12 K 5 26.5 23.6 0.2 1.2
13, & 5 26.7 22.7 0.1 1.2
14) + 5 29.5 22.8 0.1 1.2
15 H = 21.5 23.1 0.1 1.2
16| H 5 29.5 22.5 0.1 7.1
17 X 5 21.9 21.5 0.1 7.3
18] 7K 5 21.0 21.9 0.1 1.2
19, K 5 29.2 22.1 0.1 7.2
200 ® &) 22.2 22.0 0.2 7.1
21 =* 2 28.0 22.5 0.2 7.1
22| H 5] 25.8 22.3 0.1 7.1
23| A i 23.0 21.5 0.2 7.3
24| K i 21.6 21.1 0.2 1.2
25 7K i 21.2 21.1 0.1 1.2
26| K = 23.3 21.1 0.1 7.1
27| & 5] 22.7 21.3 0.1 1.2
28| + = 21.3 21.5 0.2 7.3
29 H = 23.5 21.2 0.1 1.2
300 A i 22.5 22.0 0.1 1.2
=AE 29.7 23.6 0.2 7.3
B/MB 21.2 20.3 0.1K% 7.1
M8 26.0 21.9 0.1 7.2
2E) B AT ERKBRNEEEH EEERFEME 20T 6.5~8.0




AR TXAKE KEFHBRAR(FTM6ESAS)

HE PN KU 7K BE pHIE
B B (°C) (°C) ()
1l K 5 217.8 22.0 0.1 7.2
2| = 5 21.9 22.5 0.1K % 7.2
3| 5 30.8 23.5 0.1 7.2
4 H 5 29.9 23.1 0.1 7.2
5/ B 5 28.0 24.0 0.1K % 7.2
6] X 5 26.9 24.0 0.1 7.1
7| UK = 28.1 23.7 0.1 1.2
8 K 5 29.5 23.4 0.1FK % 1.2
9 & 5 28.5 23.7 0.1FK % 1.2
100 £ 5 28.7 23.7 0.1 1.2
11 H 5 29.8 23.5 0.1 1.2
12| H 5 30.2 24.5 0.1FK % 7.3
13 X 5 28.6 24.5 0.1FK% 1.2
14) K 5 21.4 24.7 0.1FK % 1.2
15 K 5 21.6 24.3 0.1FK % 1.2
16, = 5 30.3 24.6 0.1 7.3
171 + 5 31.3 24.5 0.1FK 1.2
18| H 5 31.0 25.5 0.1 7.3
19 H i 21.7 25.0 0.1FK 1.2
20) X 5] 22.3 24.0 0.2 7.2
21 7K 5 29.6 24.5 0.1FK 7.3
22 K = 21.2 24.5 0.2 1.2
23 ® = 29.5 24.4 0.2 7.3
24| + i 29.2 24.5 0.1 1.2
25| H &= 28.3 25.0 0.1 7.3
26| H i 24.9 25.0 0.1 7.3
27 X 5] 23.7 23.5 0.1 7.3
28| 7K = 24.4 23.2 0.2 7.1
29 K B8] 23.8 23.5 0.1 7.2
30| = i 24.2 21.3 0.2 1.2
31 £ 23.9 21.3 0.3 7.1
=AE 31.3 25.5 0.3 7.3
B/MB 22.3 21.3 0.1K% 7.1
F(E 21.8 23.9 0.1K7% 1.2
2E) B AT ERKBRNEEEH EEERFEME 20T 6.5~8.0




AR TXMAKE KEHBRAR(FTM6ETAS)

HE PN KU 7K BE pHIE
B B (°C) (°C) ()
1l A = 24.6 17.1 0.1 7.2
20 K 5 23.7 16.2 0.2 7.4
31 7k = 25.4 16.5 0.2 7.3
40 K 5 28.2 17.5 0.1K 7.3
5, & 5 26.5 17.8 0.3 7.3
6| L 5 29.8 18.8 0.1 7.3
71 H 5 29.6 19.0 0.2 1.2
8 H 5 28.6 19.5 0.2 1.2
9] X = 26.0 19.3 0.3 1.2
10] K = 26.9 19.1 0.2 1.2
11 K 5] 24.2 19.0 0.2 1.2
12 & 5] 22.1 18.3 0.2 1.2
13| *= i 25.7 17.6 0.1 7.3
14| H 5] 24.1 18.0 0.2 1.2
15| H = 26.4 17.7 0.2 1.2
16| X 5] 22.7 17.6 0.2 7.4
17) K = 23.0 17.5 0.1 1.2
18 K 5 26.5 18.0 0.1 7.3
19 % &) 28.2 19.1 0.1 7.3
200 & &) 29.7 19.4 0.1 7.0
21 H i 29.4 20.0 0.1FK 7.1
22| R 5 29.2 20.6 0.1 7.0
23] X 5 28.17 21.3 0.2 7.1
24 7K 5] 22.1 21.6 0.1 1.2
25 K 5 21.0 20.6 0.1 7.1
26| & = 24.3 20.7 0.2 1.2
27 X 5 28.6 21.3 0.1 7.1
28/ H 5 31.0 22.1 0.1K% 1.2
29| A 5 28.7 22.5 0.1 7.1
300 X = 27.1 22.5 0.1FK % 1.2
31 7K i 28.2 22.0 0.2 1.2
=AE 31.0 22.5 0.3 7.4
= ZIN (] 22.1 16.2 0.1K% 7.0
M8 26.7 19.3 0.1 1.2
2E) B AT ERKBRNEEEH EEERFEME 20T 6.5~8.0




AR TXAKE KEFHBRAR(FTM6EEA )

HE PN KU 7K BE pHIE
B B (°C) (°C) ()
1l * i 18.3 14.5 0.2 7.3
2| H 5] 17.0 15.1 0.2 7.2
3| B 5 18.1 14.4 0.2 7.2
40 K 5 17.9 14.7 0.2 7.1
5 7k 5 20.0 14.6 0.3 7.1
6| K 5 20.8 15.5 0.3 1.2
7 = 5 20.1 15.1 0.3 1.2
8 = 5 23.3 16.0 0.2 7.3
9] H 5] 19.5 16.7 0.2 1.2
10 H 5 19.7 16.6 0.3 1.2
11, X 5 22.7 17.8 0.2 1.2
12] K 5 24.1 19.0 0.2 1.2
13| K = 22.2 21.4 0.2 7.1
14 & 5 23.4 21.5 0.1FK % 7.1
15 £ 5 25.2 19.9 0.2 1.2
16/ H = 22.4 19.5 0.2 1.2
177 R = 22.1 20.0 0.1FK 1.2
18] X 5] 17.4 20.0 0.2 1.2
19] 7K i 20.5 18.5 0.2 1.2
200 K = 21.5 19.3 0.1FK 1.2
21| = 5] 18.0 18.9 0.1 1.2
22, k= i 23.1 20.2 0.1FK 1.2
23| H 5] 18.9 18.9 0.1FK 7.3
24| H i 24.7 17.1 0.1 1.2
25| X &= 23.8 17.9 0.2 7.4
26 7K 5 23.3 17.9 0.1K% 7.3
27, K 5 21.4 18.5 0.2 7.1
28| ® 5] 19.5 18.1 0.2 1.2
29| + 5] 23.2 16.6 0.2 1.2
300 H 5] 23.6 17.8 0.1 1.2
=AE 25.2 21.5 0.3 7.4
B/MB 17.0 14.4 0.1K% 7.1
F(E 21.2 17.7 0.2 1.2
2E) B AT ERKBRNEEEH EEERFEME 20T 6.5~8.0




AR TXMAKE KEFHBRAR(FTM6ESALS)

HE PN KU 7K BE pHIE
B B (°C) (°C) ()
1] K 5] 17.4 14.8 0.1 7.2
2| K = 12.4 14.9 0.1 7.2
3| & 5 17.9 14.7 0.2 7.2
4] + &) 18.3 14.9 0.2 7.2
5| H i 20.4 16.0 0.1 7.2
6| H = 18.9 16.4 0.1 1.2
A 5] 16.0 16.5 0.1 1.2
8| K i 19.1 15.7 0.3 1.2
9 K = 11.8 15.6 0.2 7.3
10, & 5 12.7 14.5 0.2 1.2
11 + 5 18.4 15.0 0.1 1.2
12/ H = 17.7 15.6 0.1 1.2
13| H 5] 17.6 16.1 0.1 1.2
14] & i 15.2 13.5 0.2 1.2
15] K = 19.9 14.7 0.2 7.1
16/ K 5] 17.4 15.2 0.1 7.1
17 = &) 16.2 15.2 0.3 7.1
18 £ &) 20.7 15.3 0.1 1.2
19) H = 17.9 15.3 0.2 1.2
200 A = 16.2 16.2 0.1 1.2
21 & 5 18.3 16.0 0.1 1.2
22| K 5 18.4 16.6 0.2 1.2
23] X = 19.4 16.8 0.2 7.1
24| & i 19.5 16.5 0.1 1.2
25 & &) 21.7 17.0 0.1 1.2
26| H = 20.8 17.3 0.1 1.2
27/ R 5] 18.2 17.2 0.1K% 1.2
28| X 5] 21.4 16.4 0.1K% 1.2
29 K i 17.6 15.0 0.1FK 7.4
30| K 5 18.9 14.7 0.2 7.3
31 & 5] 17.1 15.0 0.1K% 1.2
=AE 21.7 17.3 0.3 7.4
B/MB 11.8 13.5 0.1K% 7.1
M8 17.9 15.6 0.1 1.2
2E) B AT ERKBRNEEEH EEERFEME 20T 6.5~8.0




AR TXMAKE KEHBRAR(FTM6FELIAS)

HE PN KU 7K BE pHIE
B B (°C) (°C) ()
1, A 5 12.0 10.1 0.3 7.3
20 K 5 9.7 10.1 0.3 7.2
31 7k 5] 10.3 9.6 0.2 7.2
40 K 5 13.2 9.3 0.3 7.1
5, & = 11.5 9.9 0.2 7.2
6| L 5 13.9 10.0 0.3 1.2
71 H 5 17.2 10.6 0.2 1.2
8 H 5 15.7 11.0 0.3 7.1
9 X 5] 13.9 11.6 0.3 7.0
10] K 5 10.9 10.5 0.2 7.3
11 K 5 12.3 9.5 0.2 1.2
12 & 5 13.3 10.3 0.3 7.3
13 £ 5 17.2 11.4 0.2 1.2
14| H 5 17.6 12.6 0.2 7.1
15| H 5 15.7 13.1 0.2 7.0
16] X &= 16.6 13.1 0.2 7.1
17) K 5 19.6 12.6 0.2 7.2
18 K 5 16.2 13.5 0.2 7.2
19 % &) 16.1 12.5 0.2 7.1
200 & &) 17.8 12.7 0.1 1.2
21 H 2 19.5 12.9 0.1 7.1
22| R 5 16.0 12.8 0.2 7.0
23| X = 15.6 13.0 0.2 7.1
24 7K 5] 14.5 12.6 0.2 7.0
25 K 5 15.6 12.6 0.3 7.1
26| = 5 19.5 13.7 0.2 1.2
27 X = 18.2 13.9 0.2 7.1
28| H 5 21.4 14.4 0.1 7.1
29| A = 20.6 17.1 0.2 1.2
30 Xk 5] 16.2 16.7 0.1 7.2
=AE 21.4 17.1 0.3 7.3
B/MB 9.7 9.3 0.1 7.0
M8 15.6 12.1 0.2 7.2
2E) B AT ERKBRNEEEH EEERFEME 20T 6.5~8.0




